?i&mﬁﬁﬁmﬁﬁﬁ

RN

2P 102 & 37

(g* &%)

3 % 5B R B 3
[ BAT 3B NEF AR G F R | s R P erY 4R & 2
e 2 Ry A e 7
(= )% 37 i % (=% 3®" SRPED S
(=)% 383940 i+ (Z) T A ngds | $0% 312 BE R BB
S AR YRS E TR AN AL I | RF 1-3 B %o futh i 5 H
ip TAe s F AT RIS X
= | B R (C)pBREFHFRPLF 1 AT L9 2 - P2 2N R
()P EE 4ot kR qﬂ/fﬁ"*b«ﬁ”éf (&) A o
fEFE L j’u,z*immz}—*‘)’ il
:;}_«PLA,\gPE-&T @,Fﬁi%‘ ey g o
| FTE Gt BG4 2% 12 B0
ki LEFAARHIAITRT B A T FAFFRL LR LTS R PEL
= gagﬁﬁyﬁxiaguﬁﬂﬁﬁﬁf SR
= |- EPAEREF AR FE LR
A

EAR S ¥ PR 5 >20%

BFHE 3R




o FRiIT R

T8 =X

TP

\“')‘}

I8 f:& gﬁ_‘ﬂg

L

N

EWFR* BEF R HIT(F) FA
i+ [2,495,288 2]

(—) 10201%)%‘%" * Ii'éé;ﬁﬁ;:ﬂ' Eﬁ—%ﬁt_‘_é"gé\ ;‘; %f%? o

() & g g o

G)%ﬁ“‘@ﬁﬁ§%?ﬁﬁiﬁﬁﬁﬁ(ﬁﬁﬁﬁ#ﬂ\ 100
A2-~A3-A5-A6-A7-B1-B6-B7-B8-B9-BA-
C4-D1-D2-~D4~HN) # 5] » 33+ o
S |[FEBE RGO >=3F 8 2 L0k p F((-) T0E p FR = (102017 sdein A f4£) /10201
K% % shdcd £ F>20% (102£3 47 % AR
TEIGET) (2) T30 p Fo  » Bmged £ 5=(102015 355 p Fp ¢ ¥
—10101X355 p F 3 * ) /10101L 355 p Fff * - o

(2) & grsriihs go

(r) BgEeh ~ ByR2 FRFTA F R RE (FRo=AL-
A2-A3-A5-A6-A7-B1-B6-B7-B8-B9-BA-
C4-D1-D2-~D4~HN) # 7] » 33+ o

SRR F 5 R

Pl o> do@m kA%
BXAPGF A%
7 .
HEZEZBE R
WERER TR
R vE S LA S

ol ENE




# F

7= B LH % P EUR = Bl
(S
= |EeE P FRF >3 s P T30k p g |(-) TieE p Pt = (102017 FmacHIRA 4% ) /10201
R g r>=1g 8 P Ti0E p S EES & "é;/ﬂﬁzo
F>20% (102#£3~47 g v £ 137 ) |((C) THEpLgF * =10201% % B-4/102015 2 P ¥ -
(2) Tio& p B e £ 5=(102012 % g8 — 101012
2L#0)/ 101012 7 B8k - 87
(2) & FRaor@ i &7 o
(Z) B~ SPR2 FRTRD LB FFE (FE24=A1
A2-A3-~A5-A6-A7-B1-B6-B7-B8-B9-BA-
C4-~D1-D2-~D4-~HN) # 7] » 33+ o
o (FEYRFR G BE( BRI |(-) 10201F 7 F R Bhle="Y GBS (4
#98(% )7 4 = [1,449,477 gt.] (z) ¢ 3 FERIAS F 7 -
() WHFFLERERTIHFHS
119

() S3peh ~ ez FRER? & %R (%A #E=A1 -

A2-A3-~A5-~A6~A7-B1-B6-~B7-B8-B9-BA-

C4-~D1-D2-~D4-~HN) # 7] » 33+ o




I B LH iE %;\i ELI -l
TR PERATERFER T B0 R B T0(2)(0) A TR R AT AR L B
A [1,071,274 8] TERF R T r>50%
(=) 10201% 3§ * Bhdic=" B30 A f £ &7 -
(2) & g 7% o 15
() B~ B2 FRFTARD B R RE (FRrg=Al-
A2-A3-A5-A6-A7-B1-B6-B7-B8-B9-BA-
C4-D1-D2~D4-~HN) 72 7] » 53t o
S REFRATERFRF T R R S 90(2)|(0) R RRE T RATY SRR B AR
7 A = [1,940,005 2] TERF R T r>50%
(=) 10201% 4 7 * Bhdie="¢ FFBdic+ %A 4 £ 9F
(2) & s @i By o 13
() 3FH~ BPR2 FRTRT LB HHE (F 22 H=AL-
A2-A3-A5-A6-~A7-B1-B6-B7-B8-B9-BA-
C4-D1-D2-D4-~HN) # 5] » 33+ o
EX LRSS S 261

Folfge-p 1102 E 3% 29 B

= 100 & % :'zi_'%f € &A%, p 100 £ 12 ? (ﬁ": *E D )Ae ‘-fs@rf’ilﬁ(g)’rzi %5;1}%«71]% ﬁﬁ«‘fﬁ’%—f‘%% (#gx/%g:_ ;E#Fﬁ%_; zzg@g%g:,%% ¥ aLEcE e
FOTFAR) FRFHGESR REFTHERSFE -
#1014# 127 14 p 6 FRAKAFI0L EF AX L FERBTFRNY - 20 (R PF 1102 &340 7 &0 e

4



